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A={a, b, ¢, d, e},

B = {x |z 20 ol5te] &5}
C={z|ze 159 o5} & o,
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F A A, B o Histe] v B F &

® AcBo|HANB=B

@ BCcA°lHAUB=B

® AU =0

@ AcCB, BZAOHANB=A

® Ac (ANB)C (AUB)



10. AA-ER} U = {z]ze 20 olste] AA4} o & F2H9 A, B ©f tisto]
n(U)=50,n(AUB)=38,n(ANB)=9,n(B—A) =16 & W, n((A— B)°)
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n(A) = 50,n(B) =32, n(C) =10, n(AU B) =70,
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n(AUBUC)+2xn(ANBNC) 9 gt Fotofzt.



12. A P of tate] [A] = {P|P C A} 2 Bttt A= {z,y,2} & W, IS [4]
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15. tb3 # to]o] g4 n(4) = 20 ,
n(B)=10,n(C)=15,n(BUC) =21,
n(AUBUC) =25 ¢ o, 813 3 FEo]
Uetl= Ao 949 7i4E Fotofzt



